Supplementary Material A

Note. Because of the limited number of male participants, the ICC values for males are not especially precise. The high male ICC for UFOV Inner Accuracy may be anomaly that would not hold

true for a larger sample.

Session 1 Session 2 Main Effect . Main Effect Levene's Levene's
Task Measure  Gender (N) M (SD) M (SD) ICC (Session) Session x Gender (Gender) Session 1 Session 2
MoCo Male (19) 027 (0.11) 027 (0.13) 0.66 |:(1,213_9)0 - 8.14, F(1,213_9)0 - 8.02, |:(1,213_9)o - 8.51, F(L 130) =008, F(L 130) =260,
Threshold UL Setad o= p = 2% p=0.77 p=0.10
Female (122)  0.29 (0.11)  0.28 (0.09)  0.59 p=071 p=0.88 p =048
UFOV Male (19)  0.94(0.06) 0.96(0.03) 021 F(1,135)=6.25 F(1,135) =024, F(L135)=002 Lo o135 -033 R 185)= 1oL,
Number n%p = 0.04, 7 = 0.00, n%p = 0.00, 057 —0.32
Accuracy  Female (118)  0.94 (0.06)  0.96 (0.05)  0.52 p=0.01 p =063 p=0.90 p=0 p=0
UFOV Imer  Male(19)  0.86(021) 0.95(0.12) 073 F(l,n1235_)0:1241.48, F(17,7213_1-'>)0 - 2.81, |:(1’,7213_5)0 = 5.61, F(L 135 =100, (1,135 =141
p— V. y p— V. y p— VY. y _ —
ACCUICY  Fomale (118)  0.78 (0.18)  0.91(0.17)  0.30 0 <.001 0= 0.37 0=0.11, p=0.30 p=0.24
UFOV Male (19)  026(0.18) 032(021) 075 F(L135)=1065, F(1,135)=000L,  F(1135)=036. L. 130 007 F 135)= 001
Middle 7”2 = 0.07, 72 = 0.00, 77 = 0.00, 080 065
Accuracy  Female (118) 0.23(0.17)  0.30(0.20) 0.58 p = 0.001 p=097 p=0.55 p=5 p=5
UFOVouter  Male(19)  018(0.13) 0.24(0.18)  0.69 F(l’,7213_5)0 - 3.54, F(17,7213_5)0 - 2.44, F(l’,7213_5)0 - ;.29, F(L.135)= 065, F(L 135)= 3.6,
p— V. f p— V. y p— VY. y — —
ACCUECY  Eemale (118)  012(012)  0.14(0.14)  0.75 p = 0002 p=007 p=001 p=042 p=008
MOT Max Male 21)  6.14 (0.65) 6.14 (0.73)  0.39 F(1,n%49)0:0%ooz, F(1,}7%49)0:0%002, |:(1’,7214_0)0 - ??:.84, F(L140) =025, F(L 140) = 2.67,
p— V. y p— V. y p— VY. y _ —
Items Female (121)  5.89 (0.66)  5.90 (0.60)  0.40 p=0.96 p=0.96 p = 0.05 p=0.62 p=011
MOT Male 1)  4.88(0.59) 4.79 (1L.03) 0.25 |:(1,214_0)0 - 8.21, |:(1,214_0)0 - 8.25, |:(1,214_0)o - 2.98, F(L 140) =104, F(1 140)=6.22
Threshold o= 22 Ul o= L p=017 p=0.014
Female (121) 4.41(0.66) 4.47(0.74) 0.35 p=0.65 p =0.62 p =0.003
VWM Male (19)  2.44(0.83) 2.34(1.00) 0.80 |:(1,213_5)0 - 8.04, |:(1,213_5)O - 1.70, F(1,213_5)O = 8.02, F(L 135 =083, (L, 135) = 165,
Capacity (k) 7' = 0.00, 7' = 0.0, 7' = 0.00, 0 =036 0 =020
Female (118) 2.33(0.75) 2.40(0.80)  0.77 p=085 p=0.19 p=0.88 ' '




